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I Answer any four from the following.

with B as intemal hinge.
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Iength of 20cm is 0.1 mm and the change in
and modulus of elasticity.

b. A short column2OOmm x l00mm is
40 mm in the plane bisecting ths 100
stresses at the base.
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" ' .n.:c. A M.S. plate is 400 mm long
1200 kN calculate i)proof

d. State torsion formula
torsion.

A cantiiever beam 4m
material of beam is
State Assumption

II a.A wagon

of 3.6lanph.'When
at the time
elongation
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ratio is 2. [5]
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' an incline plane at speed
If the length of rope is 60 m.

and maximum instantaneous

mm OD and an outer brass fube of
the compound tube carries an axiaj

find stresses and the load canied by each

l10l

MPa (T), ,or=40 MPa (C), and shear stress
principal stresses Also find the maximum shear

method.
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rter ratio 3/8(d ; to do ) is to transmit 37s Kw power at 100 rpm, the
greater than the mean .the shear stress is not to exceed than 60 N/rnm2 and
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twist in a length of 4 m not to exceed 2o, calculate its external and internal Oiam'eFi WhiiIi.wOuld'sa
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h.Acylindricai shell one meter in tliameter and 3 m long has a thickness,of.lq'{-n:$it ts
.^ -'i. .

intemal pressure of 3Nlmm2. Calculate change in length, chSnge in d-i

E:21OkNmm2 and p:6.3

u,= I 2x I Ct-5/" c . Eu=21 61p1,.ii**'
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5. Take internal diameter
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Ix 200mm carrying a udl of
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Y.a.Find the stresses in the wires of the system made of two

iength &65 mm2cross sectional area the load of 18 kN is

rises by lOoC assume d.:16x10'6f C , E 
"=11OkNlmm2

b.Determine the deflection at B and slope at D for

max.deflection and its location take E: 200
-'.i,-al
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VI.a. A hollow
diarneter of the column. if
as 0.8 times the

b.z\ sirnply
4kN/nr

and 25 mm below the toP surface of
l10l
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